
10554 10554.5 10555 10555.5 10556
cyclenum

1

1.5

2

2.5

3

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

3.5−

3−

2.5−

2−

1.5−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

8155

8155.5

8156

8156.5

8157

8157.5

8158

8158.5

8159

ru
n

run:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 8157}



10554 10554.5 10555 10555.5 10556
cyclenum

79.5−

79−

78.5−

78−

77.5−

us
l_

1X
usl_1X:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

8−

7.5−

7−

6.5−

6−

us
l_

4a
Y

usl_4aY:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

12.5

13

13.5

14

14.5

us
l_

4e
X

usl_4eX:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

25.5

26

26.5

27

27.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

42−

41.5−

41−

40.5−

40−us
l_

12
X

usl_12X:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

8155

8155.5

8156

8156.5

8157

8157.5

8158

8158.5

8159

ru
n

run:cyclenum {run == 8157}



10554 10554.5 10555 10555.5 10556
cyclenum

124.5−

124−

123.5−

123−

122.5−us
r_

1X

usr_1X:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

2−

1.5−

1−

0.5−

0

us
r_

4a
Y

usr_4aY:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

174.5

175

175.5

176

176.5

us
r_

4e
X

usr_4eX:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

16

16.5

17

17.5

18

us
r_

4e
Y

usr_4eY:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

42.5−

42−

41.5−

41−

40.5−u
sr

_1
2X

usr_12X:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

8155

8155.5

8156

8156.5

8157

8157.5

8158

8158.5

8159

ru
n

run:cyclenum {run == 8157}



10554 10554.5 10555 10555.5 10556
cyclenum

16337

16337.5

16338

16338.5

16339

us
l_

co
il1

usl_coil1:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

2416.5

2417

2417.5

2418

2418.5

us
l_

co
il3

usl_coil3:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

4929

4929.2

4929.4

4929.6

4929.8

4930

4930.2

4930.4

4930.6

4930.8

4931

4931.2

us
l_

co
il4

usl_coil4:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

3283−

3282.5−

3282−

3281.5−

3281−

us
l_

co
il6

usl_coil6:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

6621.5

6622

6622.5

6623

6623.5

us
l_

co
il7

usl_coil7:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

8155

8155.5

8156

8156.5

8157

8157.5

8158

8158.5

8159

ru
n

run:cyclenum {run == 8157}



10554 10554.5 10555 10555.5 10556
cyclenum

15099−

15098.5−

15098−

15097.5−

15097−us
r_

co
il1

usr_coil1:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

2055.4−

2055.2−

2055−

2054.8−

2054.6−

2054.4−

2054.2−

2054−

2053.8−

2053.6−

2053.4−

2053.2−

us
r_

co
il3

usr_coil3:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

6377

6377.2

6377.4

6377.6

6377.8

6378

6378.2

6378.4

6378.6

6378.8

6379

6379.2

us
r_

co
il4

usr_coil4:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

3175−

3174.5−

3174−

3173.5−

3173−

us
r_

co
il6

usr_coil6:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

34670

34670.5

34671

34671.5

34672

us
r_

co
il7

usr_coil7:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

8155

8155.5

8156

8156.5

8157

8157.5

8158

8158.5

8159

ru
n

run:cyclenum {run == 8157}



10554 10554.5 10555 10555.5 10556
cyclenum

125.5−

125−

124.5−

124−

123.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

10.6

10.8

11

11.2

11.4

11.6

11.8

12

12.2

12.4

12.6

12.8

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

223

223.5

224

224.5

225

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

230.5−

230−

229.5−

229−

228.5−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

25.5−

25−

24.5−

24−

23.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

232

232.2

232.4

232.6

232.8

233

233.2

233.4

233.6

233.8

234

234.2

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8157}



10554 10554.5 10555 10555.5 10556
cyclenum

289.6

289.8

290

290.2

290.4

290.6

290.8

291

291.2

291.4

291.6

291.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

120−

119.5−

119−

118.5−

118−4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

44.5−

44−

43.5−

43−

42.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

267.6

267.8

268

268.2

268.4

268.6

268.8

269

269.2

269.4

269.6

269.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

147−

146.5−

146−

145.5−

145−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

36.5−

36−

35.5−

35−

34.5−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8157}



10554 10554.5 10555 10555.5 10556
cyclenum

236.5−

236−

235.5−

235−

234.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

88−

87.5−

87−

86.5−

86−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

2−

1.5−

1−

0.5−

0

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

4

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

531.5−

531−

530.5−

530−

529.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8157}

10554 10554.5 10555 10555.5 10556
cyclenum

8155

8155.5

8156

8156.5

8157

8157.5

8158

8158.5

8159

ru
n

run:cyclenum {run == 8157}
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